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Time : 3Hrs. Sem - VM
MQC

Full Marks : 70
Pass Marks : 28
Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question
carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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10.
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Defined metrology and briefly explain use of (ii)

metrology in an industry.

Agldroll & aR9IfT s, T2 S=r 7
Aol & SUAT &) G arr o |

Explain O.C. curve in detail ? What is its purpose (iii)
in sampling ?
6
A W Hd d IR H fTER 9 ga§ ? dufer
A SHBI SR AT © ?
(iii)
OR (312141)

Ten sample each of size 5 are drawn at regular

intervals from a manufacturing process. The

sample mean X' and range 'R' are given below.

SampleNo:-1 2 3 4 5 6 7 8 9 10 (iv)
Mean (X); 47 5149 44 46 47 45 33 57 41

Range(R):-8 5 6 4 8 7 6 9 8 7

Calculate the control limit in respect of X and R

chart (GivenA,=0.58,D;=0,and D, =2.115)

3 1625504

frr=feRaa & & &9 91 9@
fazatyoars Aleror g1 fReiRa 8
foar Tar 2 |

(31) UIBISe

(@) sHIfoe ®uq

(&) |aftdT

(?) dr=

What is the effect of improper alignment of
each tooth ?

(a) Tooth thickness

(b) Face width decreases

(c) Lead will not distributed evenly

(d) Pitch of teeth reduced

gAS T @ IIfad EX@T BT YHId

T2 ?

(a1) <her wierd 9¢ o @

(@) »9 &) dsTE B9 8 rdl @

(@) <fre o vu 9 faaRa & fear
ST

() fra & o1 &9 8 Wi 2

When is the 100% inspection done ?

(a) The supplier's process is so good that
defective unit are never encountered

(b) The supplier's process is so bad that almost
every unit is defective

(c) The component is extremely critical

(d) The component is moderately critical
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Define the line standard and end standard.

TSl TUsYS Ud UUS ¥eusys &l gRHAIivd
B |

GROUP -C

Answer all Five Questions.

gl uig g3 & SN < |

6x5=30

7. Describe the construction and working of the sigma
comparator.

Rrar $vRex & 9-1de Ud SR YUITell &1
qufq &Y |
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(vi)

(vi)

(vii)

5 1625504

Which one of the following is a type of
control chart for variables ?

(a) C-Chart

(b) P-Chart

(¢) X-Chart

(d) V-Chart

fr=fafaa § ¥ @19 a1 faas ard
BT Uh PR 27

(@) H—ard

@) d—ard

(&) vea—ard

(]) Wi—=rd

Which of the following is true for

measurement of surface roughness ?

(a) 3-dimensional geometry can be easily
measured.

(b) Direction of measurement is parallel to
the lay.

(c) Direction of measurement is perpendicular
to the lay.

(d) Direction of measurement is parallel to
the direction of the predominant surface
marking.
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Write the ISO-9000 series of standards.

HAFd BI 1S0-9000 HEdl &I e |

Enumerate the instrument used for angular

measurement.

®Ivfig 419 & fov ST fHv = arel
SYBRT BT JHIOTT BN |

OR (3121an)

What is a sine bar ? Name the materials of which

it is made up.

AT 9R T 8 ? Ayl &1 A 9drg
8 98 91 2 |

State the characteristics of line standard.

s AP B fagivasn o ford |
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(ix)

(ix)

(x)

(x)
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"No go gauge' according to Taylor's principle,
checks which of the following ?

(a) All dimensions at a time

(b) Only important dimension at a time

(c) Only one features at a time

(d) None of these

SR figrd @ R A1— IS

frafaRaa 9 9 o Sra axar 87
(31 e gHa #§ 9 A

(@) & 99 H dad AgdyUl A
(W) & 999 ¥ @dd o fafdrsear

(]) Swiad & 4 g T8

Clinometer is used to measure.
(a) Anglex

(b) Flatness

(c) Roundness

(d) Temperature
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Small mid-sized 6 in sigma projects are
executed by professionals tilted as

(a) Champion

(b) Green belt

(c) Black belt

(d) Site champion

oY /HegH 3THR dl B RAr
gRAISARI I 9PaRI gRT frsarfea
fopar <irar 2 1

(ar) df=

(@) = dce

(d) =® dec
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(xiii)

(xiii)

(xiv)

(xiv)

9 1625504

The output stage of a generalised
measurement system may comprise
(a) Manipulator

(b) Detector-transducer

(c) Indicating unit

(d) Techometer

U$ AEIGd q19 YoTTell & Icdras
A e B 9ad @ |

(31) Afigeex

@) FdTe—grasgar

(|) 4o sTo%

(]) @Iy

The purpose of instrument is to ..........
(a) Measure measurements dimensions
(b) Transmit the information

(c) Change signals

(d) Any of the above

SUBIUT BT ST & ..oooc.. |
(31) AT BT AT oAT

@) g3 gaia &

(W) 9&d 9ga
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